
Note: given the fact that you’re ‘obliged’ to answer the weekly questions, try to profit the most from the task:

- Start by reading the lecture notes.

- Looking at them as little as possible, answer the questions.

The answers to the Week 10’s questions should be handed to me at the beginning of the exam. They should be manuscript (not typewritten) and preferably based on schemes (as I do in the whiteboard). Keep a copy for yourself.

Please write WEEK  11 in bold at the beginning of your answers.

Week 11 – Functional Finance

1. Explain why fiscal policy has been needed to fight the consequences of the Great Recession of 2008-9.

2. Why hasn´t fiscal policy been used then?

3. a) How has Japan kept the economy near full-employment over the past 25 years?
b) What was the effect on the debt-to-GDP ratio?

c) Could have this led to a high tax burden? Explain.

4. Suppose banks suddenly sell $500b of US Treasury Bonds and, in response, the Fed buys up all that debt.

a) What is the objective of that response? Explain.

b) Indicate the effects on the banks’ and government+CB’s balance-sheets.

c) Will banks be left with excess reserves?

d) Will banks use their excess reserves to expand credit to the economy? Explain.

5.  “The US and the Portuguese debt-to-GDP ratios are very not different from each other. However, in May 2010 the Portuguese government did not have the instrument the US government has to prevent an increase in the interest rate on its debt.” Do you agree? Explain.

6. Consider a country with full-employment and CB interest rates at zero, an interest rate on 10-year treasury bonds equal to 0.5% and a debt-to-GDP ratio equal to 100%. Assume that 10% of those bonds will reach maturity in each of the following 10 years.

a) What is the burden imposed by the debt-to-GDP ratio? Explain.

b) Consider now that there is a strong increase in private demand.

i) If the CB responds to this by raising interest rates, what is likely to happen to the interest on public debt? Explain.

ii) Suppose that the interest rate on public debt rises to 6% and remains at that level over the next ten years. Assuming no GDP growth and balanced budgets over the next ten years, what will be the value of interest payments on public in each of those years? Explain.

iii) What are the three possible consequences of that fact? Explain.

7. Consider a country with full-employment and CB interest rates at zero, an interest rate on 10-year treasury bonds equal to 0.5% and a debt-to-GDP ratio equal to 500%. If there is a strong increase in private demand, what should be the appropriate response of macroeconomic policy? Explain.

8. “In certain periods, the purpose of higher taxes is not to raise revenue for the government but to withdraw purchasing power from the economy.” Do you agree? Explain.

9. Unlike workers and entrepreneurs, rentiers (savers) do not make any effort. What is the consequence of this fact on the possibility of imposing a given level of return on savers?

 Explain.

10. a) Positive real interest rates imply that savers will get a share in next year’s production. Using a numerical example, explain why.

b) Is that fair? Explain.
Note – what you should know for the exam about the paradox of thrift.

1.At the Lower Zero Bound, what is the consequence of an increase in saving if the government does not use fiscal policy?

Ans: ↑ saving = ↓ consumption => ↓ AD => ↓ Y =>

· ↓ profits + ↓ utilization of installed capacity => ↓ I  (‘the paradox of thrift’)

· ↑ Unemployment.

So, instead of contributing to production, employment, and investment, saving leads to lower production, employment and investment. As a result, saving should be discouraged with the lowest possible interest rates – 0% in nominal terms - even if this implies negative real rates and thus a decline in the real value of money obtained with past effort (that contributed to past production). Negative real interest rates are fair.
2. However, as one of your colleagues shrewdly pointed out, under Functional Finance the decrease in C associated with an increase in S will be promptly offset by expansionary fiscal policy. As a result, an increase in saving ceases to have negative effects. It increases the public debt but – under Functional Finance – this ceases to be a problem. Thus, negative real interest rates generated by zero nominal rates are no longer fair.
End of note

11. a) Negative real interest rates imply that savers will get less than the share they saved from last year’s production. Using a numerical example, explain why.

b) If the paradox of thrift doesn’t hold, is that fair? Explain.

12. If the paradox of thrift holds, then real interest rates should be equal to zero. Do you agree? Explain.
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